M

Vv L 6]
www.ps.bam.de/WE06/10L/LO6EOONP.PS/.PDF; start output
N: No Output Linearization (OL) data in File (F), Startup (S) or Device (D)

] log =log ] log[ U ]-log log =log ] log [ UA log =log ] log -log[ UAA log =log
,5[loc +log ] log ' =log .13 {Iogu =0,5[log +log '] log: =log .13 {Iogu =0,5[logc +log ] log | =log .13 {Iogu =0,5[log +log ] log ' =log

,5[log +logu ] log =log . log  =0,5[log +logu] log =log log '=0,5[log +logu] log = log b log =0,5[log +logu] log =log
Adaptation: A 5 3 Threshold: t=0.007 Adaptation: A =575 B S Adaptation: A 5 3 Threshold: t=0.007 Adaptation: A

N

21 2 21
ts=0.007

log =log +0.37 log[ U ]-log log =log +0.37 log =log : AV | log =log +0.37

logu =0,5[lo¢ +log '] log: =log .-0.3 {IogU =0,5([lo¢g #log ] log: =log . -0.3 {Iogu =0,5[log’ +log ] log | =log . {Iogu =05[log +log ] log ' =log = -0.3
log =0,5[log +logu] log =log +0.66 log =0,5[log +logu] log =log +0.66 log =NnHK[log +logu] log =log b log =05[log +logu] log =log +0.66
. Adaptation: A =475| 3) Threshold: t=0.007 Adaptation: A =475  ~ Adaptation: A 5 3 Threshold: t=0.007 Adaptation: A =475

A =525

., "T.__ Threshol 27 . : 27
2 t=0.007

uonewIoul 821Uy |

Y :sajy Jejl

] log =log d U ]-logu log =log 3 ] log  =log d logU —log[ CaVvo log =log
5[log +og ] log =log 13iogu =05[log +og ] log = log 11 5[log +og ] log = log 13piogu =05[log +log ] log =log
,5[log +logu] log =log . =0,5[log +logu] log =log . ,5 [log="#logl /-] “1=2="svlog . log =05[log +logu] log =log

Adaptation: A 5 Threshold: t=0.007 Adaptation: A Adapwaiion: A 5 31 Threshold: t=0.007 Adaptation: A

/903aAM/aP weq'sd:mmm//:

2-

SW81SAS Jojuow Jo Jajuld Jo uswainseaw Joj uoiealdde {

9po9 :[eusrew Wvd  4dd’/Sd dN0039071/10T/903M-T090900¢ :uonensibal Nvd

=1
00
=
°
g
o
o
o
Q
3
(o}
0]
<
®
=
28
o
=
N
=
o3
I
=
[EEY

WEO060-5, Change of LMS in volour vision; Adaptation WEO061-6, Change of LMS in volour vision; Adaptation
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